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QUESTION 1

Which three statements are true regarding Cisco SDWAN license tiers? (Choose three.)
A. With Pro license, control and data policies are supported

B. With Plus license, split-tunnel is supported

C. With Pro license, unlimited segmentations are supported

D. With Plus license, Hub and spoke, partial mesh are supported

E. With Enterprise license, vAnalytics is included

F. With Enterprise license, TCP optimization is not supported

Correct Answer: ABE

QUESTION 2

Which two are benefits from a WAN design? (Choose two.)
A. Prioritize and secure with granular control

B. Reduce cost and increase operational complexity

C. Lower circuit bandwidth requirements

D. Provide lower quality service to guest users

E. Ensure remote site uptime

Correct Answer: AC

QUESTION 3

How does identity management solve two customer problems? (Choose two.)
A. Enables and enforces 802.1X across the network platform

B. Manages group membership

C. Provides network visibility and security

D. Increases digitization

E. Achieves dynamic and adaptive network segmentation

Correct Answer: CE

Reference:https://www.slideshare.net/robboyd/techwisetv-workshop-cisco-identity-services-engine-ise slide 3
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QUESTION 4

Which two platforms can host a vEdge Cloud Router? (Choose two.)
A. Microsoft Azure

B. Dreamhost

C. AWS

D. DigitalCloud

E. Google

Correct Answer: AC

QUESTION 5

What is the default interval for BFD packets?
A. 1 second

B. 15 seconds

C. 10 seconds

D. 5 seconds

Correct Answer: A
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